
           Fax +39 010/835.6655 • Getecno - Distributor in Europe • info@getecno.com 37

a°
Misalign.
Angle**

Thread
C

+ 1.00
Ball
Dia.
Ref.

D
+ .38

A
+ .40

H
+ .13

W
+ .13Left

Hand†

Rod End No.
B

+.065
- .013

Right
Hand

Ultimate
Radial

Static Load
Capacity
Newtons

Approx.
Brg.
Wt.

Grams

DIMENSIONS IN MILLIMETERS

‡MW-M3 ‡MG-M3 3 6 4.75 21 12.50 8 7 7.93 10 M3 X 0.5 13 25 62 4,972 10

MW-M5 MG-M5 5 8 6.25 27 16.00 11 9 11.10 14 M5 X 0.8 14 24 58 7,090 17

MW-M6 MG-M6 6 9 7.00 30 19.00 13 11 12.70 14 M6 X 1.0 13 23 57 10,573 25

MW-M8 MG-M8
8 12 8.75 36 22.25 16 14 15.88 17

M8 X 1.25
18 31 53 14,072 40

MW-M10 MG-M10
10 14 10.50 43 27.00 19 17 19.05 21

M10 X 1.5
17 28 50 20,603 80

MW-M12 MG-M12
12 16 12.00 50 30.00 22 19 22.23 24

M12 X 1.75
17 27 49 18,215 95

MW-M14 MG-M14
14 19 13.50 57 34.75 25 22 25.40 27

M14 X 2.0
21 33 49 29,840 160

MW-M16 MG-M16
16 21 14.25 64 38.00 27 22 28.58 33

M16 X 2.0
23 35 52 32,223 215

MW-M18 MG-M18 18 23 16.25 71 42.00 31 27 31.75 36 M18 X 1.5 21 31 49 41,303 300

MW-M20 MG-M20
20 25 18.00 77 46.00 34 30 34.93 40

M20 X 2.5
20 29 48 50,952 350

a1 a3 a4

K
+ .25

J
+ .25

*Check for availability.
** See page 4.

X Designates metric threads.
†Left hand units have identification groove.

MW-M & MG-M Series Female Rod Ends - Metric
General Purpose - Precision

MWF-M8 MGF-M8 M8 X 1.0

MWF-M10 MGF-M10 M10 X 1.25

MWF-M12 MGF-M12 M12 X 1.25

MWF-M14 MGF-M14 M14 X 1.5

MWF-M16 MGF-M16 M16 X 1.5

MWF-M20 MGF-M20 M20 X 1.5

MW-M22 MG-M22 22 28 19.50 86 50.00 37 32 38.10 43 M22 X 1.5 22 33 48 56,238 390
MW-M25 MG-M25 25 31 22.00 95 60.00 42 36 42.86 48 M24 X 2.0 19 31 47 104,435 700

MW-M30 MG-M30 30 37 25.40 104.75 70.00 41.25 38.10 50.80 54 M30 X 2.0 21 33 47 147,238 970

‡ Grease fitting not available on this size. Units are supplied without
grease fittings. When a grease fitting is required, specify by adding suf-
fix as designated.

Z Zerk type fitting Ex: MW-M10Z
F Flush type fitting Ex: MW-M10F

*

*

*

*

*

M
E
T
R
I
C

Specifications

Ball - Alloy steel, heat treated, hard
chrome plated.

Body - Carbon steel, protective
coated for corrosion resistance.

Race - Carbon steel, protective
coated for corrosion resistance.


